solve(feql, eq2], a,b) # Solve O ZIHf™ Al

A=matrix(QQ, 3, 3, [3, 0, 0, 0, 0, 2, 0, 3, 4]

o=20
A.echelon_form() # RREF
A.inverse() # Ao
Adet() # Al
A.adjoint().transpose() # adjoint matrix
A.eigenvalues() # 097t
A.eigenvectors_right() # NQHIH
P,LU=ALU( # LUESH # (P: Permutationg & / L U:AHZIGHE)

Spring 2012 Quiz 1 Solutions Sign
Course Linear Algebra with Sage | GEDBO003 (42) Prof. Sang-Gu Lee
Major st st Name
Points
var(‘a,b,c,d’) # BH4=™O| | vector([3, 1, 2]) # HE™O|
eql=3*a+3*b==12 # equationl FO| | yar(x, %) # B2 Ol
eq2=5*a+2*b==13 # equation2 O| | plot3d(y*2+1-x"3-x, (x, -pi, pi), (y, -pi, pi) # 3X2l Plot

implicit_plot3d(n.inner_product(p_0-p)==0, (x, -10, 10), (y, -10,
10), (z -10, 10) # 3Xt@l Hyperplane Plot
var('t) # Yo (U7 H=EFA)
x=2+2*t

y=-3*-2

parametric_plot((x,y), (t, -10, 10), rgbcolor="red") # %l Plot

<Sage Linear Algebra /& HZ0| AL >

L (5pt x 4 = 20pt) Define or Find. (You can use any of your method.)

rt+y+2z=1
1. [Gaussian elimination] Find all solutions of z—2y+2=0
3r+y—2=3
11 2 :1 . 11 2: 1
1 11 2:1 3
L2l (1R +R, 112 1] —3h 1 1|28 +R01 ll 7ER‘ 01 i: B
Sol |1-2 1:0 0—-3—-1:—1|———|0 1 —:io|— 3 3|— 3 3
3 11 ORIz o 0-2-7:0 00— 2 00 1 i——=
' 33 19
11 2: 1
11 2:1 07 L. 1
SAGE: A.echelon_form() : REF ( [1—-2 1:0]) = 3° 3
3 1—-1:3

16
r=-—

7
T YT T 1

2. Tell me how you can find the projection proj, y and D=|proj, y| when x=(2, —1,2,1), y=(3, —1,3,1).

[Find yo| x$I=2] AASZ} Z7](norm)]

(y-x)
XX

Sol Projyy = tx = X = %(2,* 1,2,1)

D=|proj, vyl = %\/1

P
/
w=y—p

O™ p=projy 'S _Q
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3. State what you know about LU-factorization:
Sol @ A reason to learn LU 23} (LUESHE HIR = O|RE AM&3t0oizt)

] REF(row echelon form)< A2a & (upper triangular matrix) U°lth. Z2&d I Uiz Aol 7]¥ 82 = (elementary matrices)
£ wgow dojHu i EE> A$3 Y (permutation matrix) Ei= 3428 H(lower triangular matrix)e]th G sz EE
° ERER I

(lower triangular matrix)2] & & & (inverse)®= 37t E (lower triangular matrix)o]th. wpelA] g Ho] == A=
9, A s @4 B3 e A=LUR & 5 Ytk o] o] &dte] Ax=b (= LUx=b) 9 3= 12d Ly

49tk & Ly=bt % *‘111 19 (forward substitution) ©.2 47 % 4 i, & Ux=y+t FHY™(backward substitution) .2 7]
3L

=

s Sdnh webM A Ax=bE A £ 5 U "k

@ [CAS:Sage] How you can find LUE3|| of A? (Y2]o] 5X} HAIZE A o PILURSIE ZA2 O{EHA 2 Z{Q17}?)

1) Step 1. QIE{ull(http://mathl.skku.acknOf T&5I0 M RIAIEE ALt
2) Step 2:

3) Define SAGE: A=matrix(QQ, 5, 5, [ 8% Ao| MES L}Y ]

4) P, L U=ALU(~)

4. (Page 60, 2—1-8) Find the number of free variables of the following LSE. (x-&-¥4=2] 75=E2)
3z, + 9z, + 22, — 22, — 4w =2
3wy + 7wy —5x,— 6x5=5
— 53 =7

Sol  Leading variables : 37} (1, L9, Tg)

Free variables : 2711 (L gy L)

IM. (5pt x 2 = 10pt) Explain :

5. If A is an invertible lower triangular (7} S} 4fZ}) matrix, then A~ is lower triangular. (St&H2fsi2Qls A HBL0]E}

SKetch of Proof

A7} helelmg - BA =1, (BT 25 7|2t (

A7} s]—@&%ﬁfaolgl E(l<i<k)e LA 7128dxS & o (P9 wghglo]) 1 type 71 A AXERO) cR, — R, 3 type 71
B ALHERO) cR+ R, —R; (i <)% atd =|lni 7b7he) F(1<i < k)& sz dolrh. 2w (Dol oste], 47 1= - B2 At
FAEo Fd ()olM BR%o] st de] Fo stzado]l Hunz A~ stz gHoln,

6. Tell me how you can show W, = {(oc17 Ty x3)ER3 | z, :x1+a:2} is a subspace of R3. [2237t0l 0|2

mujn

291

Sketch of Proof (Hint: 2-step subspace test)
Let u= (uy uyuy), v="_(v,v,v5) EW;, kER
1) utv = (uyuyuy) + (v, v,05) = (uy + o, uy Fv, 0y +vy) EW
(v g oy = (uy Fuy) + (o) Foy) = (uy +op) + (uy +v,) )
2) ku = k(uy uyuy) = (kuy kuy kuy) € W,
(v Kuy = k(u, +u,) = ku, +ku, )

Thus, W, is a subspace of R®. [

Note. F-i&3-7Fe] A9

Ag W= )7k B'S) REPFolet Sk oln) by T 271 WIS W B'e] BRI
1. x,yEW=x+yEW

2. xEW, kER = kxeW

(Hddsta 2/ 2)
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Spring 2012, Midterm Exam (Solution) Sign
Course Linear Algebra with Sage GEDBO003 (42) Prof. Sang-Gu Lee
Major st SHH Name
# Notice Score (100)
1. Bfob ZIMTo| HWEA| A Y . chsh(sty) SafME), &, st 0|2 S8 #iElelo] 7|lstn ZHE R dole wolof gt |Project P.| Exam
2. AE BEHLA Y mus Mo "F X2lEHe 22 ASEE AL HRE 5 ALt 15
3. BHeotg 25 AMS Ao S|l X[AJF AT Mols DAY ez Lz = glon, A5l EA XAIZF ded 35
HIEAl EotX| & ZHE2 e M Est Fol| E|ASHAIZ| digfu Ch '
4, X E0| Al <ofzfe| SageWHOlE olg5to] EHe TIe U2 MESMT Fdch>
var('a,b,c,d") # BH==™o| | PLU=ALU() # LUESY # (P. Permutation® & / L U:pt2t3 AH)
eql=3*a+3*b==12 # equationl 9| | vector((3, 1, 2]) # HEFO
eq2=5%a+2*b==13 # equation2 Ho| var(x, y) # B2 o]
solve(feql, eq2], a,b) # Solve A EIHIHAl plot3d(y*2+1-xA3-x, (x, -pi, pi), (y, -pi, pi) # 3X}2l Plot
A=matrix(CDF, 3, 3, [3, 0, 0, 0, 0, 2, 0, 3, 4]); # SAHO| | implicit_plot3d(n.inner_product(p_0-p)==0, (x, -10, 10), (y, -10,
A.echelon_form() # RREF 10), (z -10, 10)) # 3Xt&l Hyperplane Plot
A.inverse() # olsi™y
Adet() # HHEA | var('t) # GOl (Of7H =R Al)
A.adjoint() # adjoint matrix | x=2+2*t
A.eigenvalues() # 0qit y=-3*t-2
A.eigenvectors_right() # N QHIE parametric_plot((xy), (t, -10, 10), rgbcolor="red’) # Z|M Plot
A.charpoly() # EMHIH A
<Sage Linear Algebra |2 0| UL >
L (3pt x 6= 18pt) True(T) or False(F). Let A=A/, , and u.,v € R".
1. ( F) BEE QEde 7iEsgde] o2 gd7bssich
2. (T) Awo] BF A4l nxt dd 49 PH29 Fho] 1019, 47'9] JRES 5 HFolth
3.(T) 4 BEM, L W, det(4AB) =det(BA)
4. (T ) proj v :Zi u <Quiz 1>
5. (F) "AFe] 7k nola A2l 71 nl AFAHLAAL I HAS o]&sld & AL & At
6. (F) AgAiow 4% 2x2 A719 fE 45 N +ur(4)A+det(d) =0 & I3}
II. Bpt x 4 = 12pt) State or Define
1. olg) & Helo] zh= dolwe] A 4742 Feh B9lo] ola)gt Uit ofel] w1 kol 7HA wWakslA] Msiolal

o] A

- Fk(eigenvalue),

ArK(surjective B

o

normal vector), YxF5#(linearly independent)} U21F<;, Fw-Fike] 24, A9 F2)(Cramer's Rule),
25 E] (eigenvector), A EHAIKLT), 2|23 (orthogonal matrix), AFWE 7 : R">R™ 2] X]%(range),

onto), “HAKinjective, 1-1), & FAFd(isomorphism)

e
2

WA o

(710, Wy, Wy, W E

9 ={x,, Xy, ., X} S R"

A% W =¢7t e 2 F A AAS wEsH wE R Y3 {H(subspace)olgt FTh
{ w W, E W (Rl &3 Qth) (1)
kwe w (=Zgtel 28 ) (2)
W, kER).
ol i3t
Xyt X+ oo X, =0 (e, ¢y s ,ER)

=¢=0
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o], H“H X, Xy, .. X, (BT JE 9T 2 A5 H(linearly independent)©]glal shar, T3t W x, x,, ..., x, (5 HE S)7

o™ 2l x}<x(linearly dependent)©]&}il ?‘f}\:}.

Ty by
. T b -
(30 B ARADEAA 0o srae s, O AFALE a2 a3 x= |2 b= || ozt e, o g
azrtAl + "'2217:2 toet aZn:liu = bz' .1.” bn
R e U
. 14| 4y 14,
vkl & glek olu, 4] < 0019 o] ARPAANE FUE o o= ry =g 5=

& e} o714 4, (=1,2, -, n)

fr

A8 jE& bE vl PHolrk

S nAtel AatztalHole} sk o obd WE xe R7E AEd 27} Aol tidto] Ax= xS WEEH NS A 9] Ifgkeigenvalue)©]

g} gta, xE Aol S 49 TFHE (eigenvector)ZFaL ST}
Ak 7 R">R™9) | %(range) : Im7T={T(w)ER™ :vER"} C R™.

T : R"—>R™°] A Hstod T Ry | A=[T] &+ x=R"9 o5k T(x) = Ax, V xER" 7]|A

A=[T(e,): T(ey):---: T(e,)] o] AHEs}. .. W

m. (3pt x 10 = 30pt) Find or Explain :

1. (Quiz 1) Explain why the map 7: R*->R? by T(z,y,2)= (3z+4y,2z—5y) is a Linear Transformation.
Why) For all u= (u; uyuy), v=(v;v,v;) €ER® and kER,
T(u+v) = T(ﬁ] -FUI,UQ +vy,uq +v3): (3(u1 -5—1)1)-i-4(u2-i-112)7 2(u1 +1)])—5(u2+v2))
= ((Buy + duy) + (3v, +4v,),  (2u; — buy) + (20, — 5v,))
= (3u, +4uy, 2u; —5u,) + (3v, +4vy, 20, —5v,)

= T(w)+ 7T(v).
And T(ku) = T(kuy, kuy, kuy) = (3kuy + 4kuy,  2ku; — Sku,)
:k(3u1 +4u,y, 2u; — 5712) =kT(u).
Therefore 7' is a L.T. [ |

2. Find : 2 P(10, —15,4)2 Avka 9 a= (4,8, 7) o Fas Zx9] HEA2A e waloa}

Ans  x =pt+ta (FtER)
=(10, —15,4) +t(4,8,7) W

3. Find : & P10, —15, 4)5 A3 ¥E] a= (4,8, 7) 9 b= (4, 5, —6)7} V== HHO HEWAA S yajojz)

dns  x =p+tia+tb (Ft, t,=R)
=(10, —15,4) + ¢,(4,8,7)+t,(4,5, —6) A

4. Find : thy $do] 7hefaido] & 4 9E 2, yih?

2 0 0
A=|yz—1 0
12 (y=1—4)
IQ =0 b = =
Sofl {z—1=0 Sr=0z=1zr=4y=1 sx#0,1,4 ,y#1% EE AT m
(y—1z-4)=0
4102
5. stle] shiaol F4ste] o3k o714k 4k A a= |07 1Y R, RAEE, SPTHAE Fakehe a3 DA wsithn
0403
oA P24 Step WMol A Astolek
Sol)
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1) Step 1: (Of)) QIE{Ll0| H&5H http://mathl.skku.ackr 2 O|&$HC}.

2) Step 2: ID= skku, PW = mathE ¢|2i5}0] &3ict

3) Step 3: "M /IAAE" HES FELCT
4) Step 4: AHF o COF ¥@Aloz dld AE ChZt 20| ™MO|sHCt. A=matrix(CDF,4,4,[4,1,0,2,0,-1,2,0,0,0,1,0,0,4,0,3])
)

)

)

5) Step 5: =AY 0| eigenvaluesE Fot= HEHO Aeigenvalues) & Yl MAMSICE

E

c}.
st}

[l

6) Step 6: M|HHR| A0f eigenvectorsE Ft= HEHO A.eigenvectors_right() 2=st, A3l
7) Step 7: HIRHRY A0 characteristic polynomial2 Fdt= &0 A.charpoly() §=dst, A

0%

=

[4.0, 3.0, -1.0, 1.0]

[4.0, [(1.0, 0, 0, 0)], 1), (3.0, [(0.894427191, O, 0, -0.4472135955)], 1), (-1.0, [(0.140028008403, 0.700140042014, 0, -0.700140042014)], 1),
(1.0, [(-0.377964473009, -0.377964473009, -0.377964473009, 0.755928946018)], 1)]

x4 - 7.0%"3 + 11.0*x*2 + 7.0*x - 12.0 ]
6. A7t nakel Barztadoln | Al =09 u, [(24)7 ! Fatolek

A
Sol [(24)"| oAl " Al |9 [ ]

7. the o) B} 4PPS Fafelel.

101
A=|—-130
102
Ans Al
30 10 13 01
and Ay = |5 0]=6 4 =010 2o A= |1 3] s A= 0] ) =0,
11 10 01 11 10
=] 13l =03 S0 4= |G b8 4= 81 an=| 1G] =5

8. 919 AH 4=

101
-13 OP q e Sage ol83}o] Tk HAL Sep WT] AAEA Azalole).
102

Sol)

1) Step 1: (0f]) QIE{4lofl ®&5}0] httpy//mathl.skku.ackr 2 O|S$HC}.
2) Step 2: ID= skku, PW = mathE =3I T&3HCt.

3) Step 3: "M YIAE" HEZ
)
)

wart
4) Step 4: KW Mo CCHAOR #H AE CHat 20| Folstct A=matrix(CC, 3, 3, [1,0,1,-0,3,0,1,0,2])
5) Step 5: FEHR| Mo inverse & FSl= HEHO| Alinverse() £ QUATICL

[200 O -1.0]
[0 0.33 0]

[-1.00 © 1.00] |

9. STl vt S w, E5l watelEt
p(A) = (A=1)(A=3)2(A—4)?
(1) Be] Z7)= drplrk
@) FolR FLL2 7pAQP ol fE AEstelEt

Ans
1) 6x6 Fd (" 1+2+3=6) ]
2) p(A) = A—=1)(A—3)*(A—4)*
=A9 HEE {1, 3,3, 4, 4,4} =det(4)=(1)(3)2(4)* = 0( -~ det(4) = A\ Ay -+ \,)
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0. BE/IAE olgdlel the Agngel medd (115 Taidel

=

T(z, Y, z)= (8ac+11y*23lz7 511z +8y+1z, 718x+731yfz)
Ans T(x,y, z) =(8x+11y—231z, 511z +8y+1z, — 182+ 731y —2)
(8,511, —18), 7(e,) =(11, 8, 731),

T(e;) =(—231,1, —1)

8 11—231
511 8 1 [ |

—18731 —1

IV. 5pt x 5 = 25pt) Find or Explain :

1. AZAA 72 R — R*7F 9dole) ¥E x= (z,y)E Rl Wisle] A&

A= 718717F 01 Qe iR AI7 = Rkl - wEked
Hy=[T(e,) : T(e,)] & 718 62.5& Ha Fajoie}.

T(e;)=(cos 26, sin 26)

g
[0 cos20 & £

% 6.2.5 71-717F <1 Al gig ol sl mE %E71A

cos26 cos(gf 29)

(Sol) H, =1[T(e,) : T(e,)] = -
sin26 *sin(—*%)

_ [cos26 sin26
- [sinQ@ —cosQO} eItk

2
2. AP

o

FAh T : R*—> RS 39 62.6 ol R*AFe] djo] WE xE %3} o]F= Zo] 42 91

7ol tigeke EEAAS Pyet

o

Ap= el GARA 7=
Arpdusion Aelaka ela Fol Wk W, 8 627004 BEo] ol BA Px—x= %(H,,}ﬁ x)
“ “ cos26 sin260

= A2 zheth geby geld e diolEe] JUEA H,—

sin26 — cos26 & cl83tel rsfefek

=(tand)x

N, Y=(tang)x

19 6.2.6 71€717F 091 Ael digk FAE sk % 6.2.7 712717 091 Aadel tigk iAol ARk A

1
(Sob) Px—x= 7 (Hx—x) => Px= %H9x+ %x: %H9x+ L= Lm, + nx

2 2
l(1-%- 20) 1 20
> = (Hy+1) = “ 2 | cos®¢ sin6cos -
- = L7, _ _[ p
2 %sin%’ %(17@529) sinfcosf sin’f

3. 71 &A™ 4, Bl tatel adj (4B)= adiB - adj4 <) olf-E dsteiet

Ans adj(AB) = (|AB|(AB)™}) & C”:madjcz> (adj ©) = (ldc™)

=(AlBI(B'A™Y)
=|B|B~'A4l4™!
=adjB-adjA

(a8t 4/ 5)



4. w3 AAABE 49) DfFb] U] HEFIR

Ans AN A9] ele] @ mAgk Aol ek nfBHE BO)e 4
E\\,) = {xER"Ax=\x}< R", kER, E(\,) =

Vx, yEE,),
24 x+yeR" , kxeR"

1) [Show R4 3l 23 3lth.  Show x+yE E(),)] 2 pt)
(Pf) Ax=\x, Ay=\y
A(x+y) = Ax+ Ay= Ax+ \y= A, (x+y)
~x+tysE(,)

2) [Show =Z&Fe] dd) 28Jth. Show kxs E()\,)] @2 pb

(Pf) A(kx)=kAx=kAx= )\, (kx)
L kxEE(Q,)

5. AgWE 7 : R">R™o Hle], Im 7= R™e FEFZI
PH) vw,w,eIm7, Iv, v, ER" 2 Tv,)=w,, T(v,)=w,
1) [Show FAle] tis] 23t Show w, +w, € Im 7]

= w, +wy= T(vy)+ 7(v,) = T(v; +v,) (1 pt)

= Iv,+v,eR" 2 T, +v,)=w,+w,=R" (1 pt)

w, +twy,€Im7T

2) [Show 2Z#Fel dig] 23830th. Show kw, € Im 7]
vV kER, kw,=kT(v,)= T(kv,) (1 pt)
= Jkv,€R" = T(kv,)=kw, €ER" (1 pt)

kw, € Im7T

. Im(7)E R FEF7HIT (1pt) W

The End!!
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Spring 2012, Final Exam Sign
Course Linear Algebra with Sage GEDBO003 (42) Prof. Sang-Gu Lee
Major st S Name
2510 SO|AlS
Xfﬁgﬁgf_ﬁ GEA A% - hEH(E), SETB), e, S, oF S8 WSl s psxel wegl SO (40
2. A" HHdA sie wat=s MEo| "Fr XHE|EHe EE AR IAAAS sEE = A&t
3 Hoks 25 XM Ao ZAERIQ XAI7F A7| Moz DAY Htoz L ¢ glen, Aselde E4A
XAZF A2 W™ dEA| HotX|E =2 dM HMES Fo| EAMSIA|T] dighct
4, 2X|E0| Al <ol2fel SagedHOE o|8st0 BHE Fotc TS M=stMI glCh>
var(‘a,b,c,d’) # HE=HHO|
eql=3*a+3*b==12 # equationl do| | vector([3, 1, 2]) # HE™O|
eq2=5*a+2*b==13 # equation2 2| | oy v) # B7go
solve(leql, eq2], ab) # Solve ¢TI Al f = Txx"2 + 4xxy + 4xy™2-23
implicit_plot( f, (x, -10, 10), (y, -10, 10)) # E}2l Plot
A=matrix(QQ, 3, 3, [3, 0, 0, 0, 0, 2, 0, 3, 4]); # HZEHO| | plot3d(yr2+1-x73-x, (%, -pi, pi), (¥, -pi, pi)) # 3X12l Plot
A.echelon_form() # RREF
Ainverse( # o9 | var(t) # Bl (OB
Adet() # WP | x=2+2
A.adjoint() # adjoint matrix | y=-3*t-2
A.eigenvalues() # 04 parametric_plot((xy), (t, -10, 10), rgbcolor="red’) # %! Plot
A.eigenvectors_right() # NQHIH Ajordan_form() # A9 Jordan EFF & T3}
A.rank() # AO| A=
Acright_nullity() # AQ| nullity <Sage Linear Algebra /& HHO YH>
PLU=ALU() # LUES| # (P: Permutation & / L U:ArZtsH &)

L (23 x 17 = 34%) SHOR(T) or E2|H(F) E I L. ®7|M A<, (R), u.v = R"O|C}.

1.( ) 33 A9 AEpE 25 g wHE o]H, Col(4) = Col(44™) °|th
2. () RO =ANA a={x) %y o x bl AT x 0] BAEHE [x], = W Lk
3.( ) S={xy .. x,}7} B"¢] 71He)a A7} nARe] 7} PHolW {Ax,, .., Ax,} %= R"9] 7]A o], n=(g, b, ¢)
4. () nxn¥E a7} 7Fdola 47'= ATolH A9 AWE} RO AFANI|AS o] 2 _— Po(xy, Yo, 20)
5. (F) {(1,2), (0, 1), (2, 1)}z R*e} 7] A ]tk Ipl=¢tn=proj Vk
. D=lpll
6.( )S=1{(1,1,1),(0,0,1),(1,0,0)}= R*¢ 7]Aoc]t}. P
7. (F) 83 T(z), 2y x;5) = (20, +32,+1, —x, + 2y, x;) ©] AFHZIOIT]
) v-n =
8. () p=proj,v=tn= p—— 7:ax+by+cz+d=0
11 12y +3z, 10 0 3 10 0 3 100 3
s : 3y + 4w, — 2z S 34-20 34 —-20|REF|01010
= o [ [2T1 2 3| o] Tzae _ Lz = = =
9.( )A¥ws r . 20, + 2, o BERLelTI=15 1 " o 912 1 o o 002 1 |°1E= ker7=1{(0,0,0,0)}= {0} °Jt}.
2, 3, — i, — 2, 3-10 —1 3-10 —1 00016
10. ( F) R™olA & 988 A A4 929 Ark T(x) =proj _,.x= Px o t$eh= FFgH o] A< (rank):= 20]t)

1. () 98EY "AF {(1,0,0), (1,1,0),(1,1,1)} & R3] 7]A o]t}

12. () B duwas {91-1—71-2—536#7%:094 sErre] AAL 20]0).

2%, —3xy + 723 =52, =0
13. (F) % a=(a;, ay .. 4y a4 1:0,5) 7F B*729] 4 opd WE{abd dim(at) =n o|th
14. () 9 A7} mxn FEo)|aL rank7} k2P, dim (row(474)) =k, dim (row(447)) =k o]tk

15. () Tiaya) = Boybay 0,20, Tyley ) = (—ay, 5oy +a) ) BERe 42 (1]= [0 ] (7]
16. () R* 5 4714 e={(1,0,0), (0,1,0), (0,0, 1)}, ={(1.1,1), (1,2,0), (0.2, —3)} ol thal
(x], = Plx],¢ [x],=P"[x],9) 7L ek 28 dejad Alele] wAl= ([7]5) ' =[7]7 oItk

17. (F) R*Q] F-EF HW o42y+32=09] A0 10]th

Il
|
-
=




II. (3%x 4= 12F) State or Define

obeh F Belel s o)l A Akg Ee Belol olsha thi obel Wl Bxlel 1 WS Agstolek

[FE53t, [2 step ‘Hrl"i:%l 7k test], [12F A8, [1x 252 AT (U 9 span )], [12F 59 (Linearly
independence)], [12} €% (Linearly dependence)], [Vector® 3], [Vector &3+ 71# (basis)], [Vector
79 24 (d1mens1on)], (4] 33t (row space)], [BHE A5 (rank)], [ 7T 9] & (kernel],
[Z99 (shear) W3}, [Schur F&], [ 3AMY Tsomorphism)], [Jordan ¥=3%],

M. (3pt x 10 = 30pt) Find or Explain :
1. (Mid) HEASHAFAY T : R RS 79 626 2ol 2] A9l9] WE x& 253 olF o] 091 A2 Arks A4 AeA

e AAguson Aelaa 1ela FolR WMal 7o) teeks ¥RAES Pt ah, 19 627004 Bio] ofd w7 Px—x— %(Hexf x)

oL,

i2 2 weld SlolA Ta oigolsel adnd #,= (0520 SN2 1o qage) pya palele

<HlEke. 7k
© sin26 — cos26

[} T E

f
i)
o
rr
i
E

N Y=(ang)x

2151 6.2.6 7127178 01 Aol oigk A T 6.2.7 712717F 090 Al it oledt A Ete] B
1
(Sol) Px—x= E(H‘QX—X) => Pyx= %H9X+ %x: %H9X+ %]x: %(Hng[) X

1 1 .
—(1+cos20) EstG c0s?0  sinfcosd

1
= Py==(H,+I = = . L
9 %sinZ@ %(1—c0326) sinfcosf sin°6

4_

AL 0%} o] 7ol 991 Aol AAIAIIE WE T 1 &Y > R dlste]

Llo

2. ele) AE xR thate] %d

9:%%‘ uj, x= 3 Ney o 7(x) 2 Fatodal.
Ans PGX*X:é([‘[eX*X) ﬁPax:%(ny+x) :>P9X:é<]{9+1)x
| cos’0  sinfcosd o !
B = sinfcosd  sin’9 }where 0= 3 atx= [3]
. 1] [025 0.433][1] 1+3v3
o Pg [3} - {[).433 0.75] [3] =1/4 [ 9+ \/§}
3. AFAE T(z,y, 2) =(x+y, y+z 2z+2) Y ET7IA izt gLxd) 234 Tshel)
110
Ans T(e)) = (1,0,1), T(e,) =(1,1,0), T(ey) =(0,1,1) [71=[T(e,) : T(e,) T(eQ]—[Oll]
101
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c A 070 o) gmamerd o, b ofe 2212 WS} sl

b—a a+b|[b—a b+a] _ [2(a®+0?) 0 _
Ans [b+a a*b] [a+b a—b _[ 0 2(a®+b%) =1
agug a2+ =05
5. LE7IAE olgsle] vy AFuste] mEYd (7] & Falole)
T(z'.,y,z)=(8z+11y7231z,511x+8 +1 718z+731yfz)
Ans T(z,y7 ,2)2(890-5-11‘7;723127 511z +8y+1z, 718x+731yfz)
8 11—231
T(e,) = (8,511, —18), S m=| 511 08 1
—18731 —1

T(e,) = (11, 8, 731),
T(ey) =(—231,1, —1)

6. ME7L x=(1,3,0,4), a=(1,0,2, —1) 2 9 x9| spanfal=<a> 9122 ALY proj_,.x——

& o] &35t HAMB 7(x) =proj_,.x9 XFFE PE T3t

Ans ASVY ofehell ok x 0B BF GBI AT,

T(x) = proj  ,.x= Px

1 10 2-1

1 1 0 1l 00 0 0
P=— 102—1 = —

ala T Pi (-1 2 1o ] 6| 20 4-2

-1 -10-2 1

——aa'x
lall

7. 4803 7 R R 1 HEE 202 Gdiela, y=go tiete] A olEAR Hell, pF o HuAY(EARE) A=

], s5oR QAP A dFua: |1 ]

1
0
aYEZ A¥EHE 7 RP-RE 0 HEE 202 Siska, y=qol diste] el TAN Fol, »5

- i

8. Wl 47} ax7 A9 HBHole} kAt o] Wl rank(AT) +nullity(AT) o e FA7

Sol) A9 7|7} ax7olgbd, AT AA7|= 7x 40|tk
~ rank(47) +nullity(47) =4 [ |

9. T R' ohf] REIFL AmPFoln Aot} o] 5L QitH malstele).
{vy=(1, =2,1, =5),v, =(2,4,16,2), v;=(4, —3,0,2)}

Ans vy - vy =0, vy vy =0, v;- v, =0 = HuRle|BR AXE ot

(V0 vy 75} O ATFALAALEE (20,25 2,} 2 S (21,29, 25) = |- }
[1vi]] ||Vz|| ||Vs||
1 1
[191= VBT, [l [=2V70. |[ml|= VB oIE iz = (2.1 5), 2= —=(12.8.1),
3 .
1 i 5 5 _
10 x=[o] em 2z o= | ° 2| o totol | ox | =2
S 5

Sol) UU=71082 |Ux|’=<Ux,Ux>=x UUx=xx=|x|?= (V1I*?+10?)*=

Z3=

o

1
V29

olojef .
|

10 2—-1

1l 00 0 0
6 20 4-2
—-10-2 1

wgtolc,

AAAND A

(4,—3,0,2)

1
3 _1
o 6
4

o] Wigke]
3RS
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IV. ( 3" x 7 = 217H) Explain or Fill the blank.
1. (Mid) AgW3s 7 : R">R™ tiste], Im 75 R™ 9] F-E371Q1 o723
P vVw,w,€Im7, v, v, ER" 2 Tv,)=w,, T(v,)

1) [(Show T A sl 23 JTh) Show w, +wy, EIm7T']

= w,+W,=17(v,)+ T(vy) = T(v, +v,) (1 pt)

= Iv+veR" = Ty, +v)=w,+w, ER"
w, +twy, & Im7T

(1 pt)
2) [(Show 2Z-ehgel dis] 283th Show kw, €Im 7 ]
V kER, kw, =kT(v,)= T(kv,) (1 pt)
= Jkv,eR" 2 T(kv,)=kw, ER™ (1 pt)
kw, € Im7T
Im(7)&E R™Y

323,

Ipt) W
2. RO 4714 p={(1,1,1), (1, =1, 1), (1,2,2)}°] th&le] y=(6,11,9) 9] =Hzuy [y],=2
Ans y = ¢,(1,1, 1) +¢,(1,
¢ty tey=6

¢ —cyt2cy =11

1,1)+¢(1,2,2) =(6,11,9) , (gER) A
ol
c;tey+2c5=9

= ¢ =4,¢=—1,¢,=3 °|th

e [Y]/j = (45 -1, 3)

3. a={u,u,}, ={v, )7t RN 7|AZ a3, u, =(1,2),u,=(2,3), v, =(1,3), v, = (1, 4)
\d

, o u,
A aoll B3l [wl, =(1, 1) W, (175 olgslel [wl, = [[][w], & Fatolat

Ans wl, = 0lw), =|_2

S B

[
4. st T(z, y, 2) = (2, y, 2)oll h3l0] EET|IMLL =MIIM e = {e), €, €5}, a=1{(1, —1,1), (1, —=2,1), (2,1, —1)}
1 5
11 2 3 13
2RE P B [C=|-1-2 1|9 [A°=| 0 —1 —1|9 F([0, [N FAl7l?  Ans. [ [N =
1 1—-1 1 _ 1
3 3
5.t AFe 3 B9 BAFAANLT) Lk 7Ktk olF olgsle] PT'A P=DE WEshe stddd po} AY DE Talolat
_|6—4
A= {8—2]
Ans) [agp-Al= A0 1= N ot =o0dlme T AR 0E nf% A=24i & AR B8sE F A AR5
1+i 1—i 1+4 1—34
o mHWME  x =] 2 [,x=| 2 gzt wEkd P=| o200 2
1 1 1 1
P 'AP=Dc°lt. N

] olaL D= diag(A;; ;) :[246412—0@]%1 i
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4102

6. Fale] wkef el A3t} 42k A A= 8_01?8 o] Ifg, THEE, 989, rank, nullity, JCF £ Falek= 232 &7
0403
AL TEA Steprd = Wl AFAISHA AM<zstelz.
Sol)
1) Step 1: (0f]) QIE{lofl F&3t0] http://mathl.skku.ackr 2 0| S3tCE
2) Step 2: ID= skku, PW = ath% QlEdslo] M&SHC)
3) Step 3: "Aj HIAIE" H%% +ECt
4) Step 4: MWW Ao| COF HAlog HH AS C}2D 20| HolBiCt A=matrix(CDF.4,4,[4,1,0,2,0,-1,2,0,0,0,1,0,0,4,0,3])
5) Step 5: FHIW Ao e|genvaluesE Tote HY0| Aecigenvalues() £ =stn, MIICH
6) Step 6: MM Hof elgenvectorse Fét= HA!O| Aeigenvectors right £ 2istu, AsHSICE
7) Step 7: YHW 2o 93LE o= FHO A.inverse() =2 ol3stn, MU}
8) Step 8: SHHF| H0f rankE -_r"0|'i ol  Arank( 2 9lastm, AMasirt,
9) Step 9: 68 of nullityE Tot= FHO|  Aright_nullity( Z Qlaisln, Algsirt
10) Step 10: 10#M Mo Jordan (%S Fol= YHO  Ajordan_form() & YHsta, Masict

7. WAA Tet+day+47 —23=0 9 (x, 4, D} (v, 44) AolelHe] 1= /P& Sagez 1w

# 919 Step 1), 2), 3) o °]9,
var('x y')
f = T*x"2 + 4sxxy + 4xy"~2-23

implicit_plot(f, (x, -4, 4), (y, -4,4))

(oY -REZS ay-FEEHS AAYFOR 63435° B3 AT Fo|a,
Fold He A E}Ewﬂl AE obe) Eeel ehdolt.)
4F T T T T T ™
3+ .
L 4
Z k- 4
1F —
ok 4
ak 2
al ]
,3 - —
_ | m
4t L I 1 L 1 | =
4 3 2 -1 0 1 2 3

(Bonus) Contemporary Linear Algebra with Sage Z2|0|A MEA H{2 L, SAE S53 £= Ciotn

Have a nice summer!!
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